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Instructions:
¢ Show all necessary working in every question.
s Attempt all questions.
+ All questions are not of equal value.
¢ Full marks may not be awarded for careless or badly arranged work.
s Approved calculators may be used.

+ These questions are to be handed in with your answers.

QUESTION 1: (8 marks)

(1y a Write down the exact value of tan30°
3 b Factorise ixt-27
i, x* ~xy~3x+3y

2y ¢ Solve i2x+1} <7

(zy d Solve 3x* —14x-5=0




QUESTION 2: (8 marks)

2) a Rationalise the denominator of
3
V742
3) b Solve simultaneously
2x+3y+1=0
3x-y=4
(3 C. Find the value of ZABC , giving reasons.

fiys)

Not to scale

QUESTION 3: (8 marks)

(6) a) Write down the exact value of:

i cos225°
i, sec(—30°
iii.  tan’390°

(2) b)Ifcos8=p and sin a = g, find an expression for,

cos{ 360° — 8 ),sin( 180° + &)



QUESTION 4: (8 marks)
(1y a Solve sin (2x)° = cos(40 + x)°, where 0° < x <£90°
(5 b L. Find x, correct to the nearest
centimetre.
il. Calculate the area of
AABC , correct to the nearest
B square metre.
(2) C. The midpoint M of the interval AB is (1,-3)
Find the co-ordinates of B given A is (7,2)
QUESTION 5: (8 marks)
3) a Ifsin & = m and « is obtuse, find an expression for cos «
(3) b, A i Write down the size of LACD

60°

40 m D

i, Find the length of AC
iii. Find the exact length of AB



QUESTION 6: (8 marks)

(2) a Solve cos x = - % for -180° < x <180°
(3) b. Solve 3tan’x -1 =0 for 0°<x<360°
3) < Solve sec2x =1 for 0° < x £360°
QUESTION 7:- (9 marks)
4 a Prove that
1 1+
sin & + .cosé = 2cosech
1+cosé sin &
(%) b. Dafty walks on a bearing of 150° T, from D, for 12km before changing his
course at

i1

i1

Ato 040° T and continuing for 8km to C.

I\N

D

Copy the diagram and explain why £ZDAC = 70°
How far is Daffy from his starting point?
What is the bearing of C from Daffy’s starting point D?



QUESTION 8: (% marks)

A 3 Triangle PQR is isosceles with
p ( -150) 3 Q (E:6)

P

P(-1,0)

(1) a. Find the distance of PQ

(Zy b Find the equation of the line through P and Q

(1) C. Find the size of @, correct to the nearest degree

(3) d Find the equation of the QR, and hence find the co-ordinates of R

(2) e. Find the perpendicular distance from P to QR
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